EA 420 Quiz 2 Solution L

TR UQMS Cw.4d notation ©r %C*(b

cyCle-
2 IDZ,=CFC%-TD . %'[R‘*"K

= 600 (B50) [ 04 B & o s
e = 3 (O~ ¥+ IZ
0,20 s \] =20 Slog
= |E2F [?TU/)bM-
Eg"’ Iz - T _ <400 - 1225 °=

"6"' 0.4
j'_25/-"| s 3’ ) B

W= Cplr (T _T,,,S) = 006(08X(2400-\22T)

Svet= Wr-w¢ = \%15&105 fﬂ'g = 724 Bru

I:)) U\)—:CPCT?.—T> == —E‘: "1"—%%
=5 B%ENO - IOS°R
=50 + |

Cz=T) = (gooe 2400-—1\03) 2760° @f
G
EOSE; Bru/

) V), = Wnet - Bl=loX ' '
L B 23608 @ B‘Q_

;;i";LB'\‘T'




|

@ Ug"\g Chs wnwotekion for a*l'u\-\oqei‘...
&) We=Cry () 'CR:CTT:ag T2

=0 =l L ’E Co[cl\/dw

TF2) ), élj EZxi

0-57
=T 2, = &(54.%) -—L@—H@Oml

W = (Fy o) = (T i)
© e (1= (-] |

__lQCD[I 0‘?00 0?@? ]Vaue

5 wr

z\%c( L/’ | <k P’&H‘f VGLI beCaus‘e

N+=0-96. (A (OUS\[

roae |
R T T ()

non.nouw.
Y assume X0 95

Frs- 00(095YcH0)= | e7 e |

)




	scan0009.jpg
	scan0010.jpg

